L=4500, Spcs*l4package,

1 Arch 32x1.5 gal pes 82 6pcs*2package
. . hot _
2 diagonal bracing 32x1.5 aal pcs 4 L=4500, 1pcs
. . hot _
3 horizontal tie 32x1.5 gal pcs 10 L=3000, 2pcs
o hot
4 V’pipe 32x1.5 gal pes 20 L=500, 2pcs
5 |top longitudinal rod |32x15 h:il pes 10 L=4050, 2pcs
6 |Top longitudinal rod 212 hz;] pes 14 L=6000, Tpcs
hot _
7 End column (1) 32x1.5 gal pes 4 L=3200, 1lpcs
hot _
8 End column (2) 32x1.5 aal pcs 4 L=2800, Ipcs|
. hot L=1140mm|
9 |Arch connecting 32 gal pes 4 Shrink 70mm bend 15°(proofing), 4 pieces|
. _ plastic
10 clip 32-32 coated pcs 41
. g plastic
11 |clip 3222 D e pes 82
12 pipe cap 32 plastic pcs 2
13 pipe cap 22 plastic pes 4
hot
14 door aal set 4 2000%1000, 2pcs
hot
15 |door seat32mm o set 4
gal
hot
16 door handle © pes 4
gal
hot
17 lock channel 5=0.6 pes 70 L=4000, 4pcs

gal




18 channel connector pes 75
gal
. . . L=2000, 1Components|
19 wiggle wire =20 pes 175 (including climbing rod)
. hot
20 pipe and channel conector (32 aal set 177
hot
21 |hoop (big hole) 32 © pes 75
gal
22 |hoop (small hole) 32 hot pes 26
gal
23 |U clip 3232 hot set 20
gal
24 clamp 22 plastic pes 182
. . hot
25 rolling pipes (¢22%1.2 aal pes 14 L=6000, 2pcs|
26 roll up unit manual set 2
27 climbing pipe @25*1.5 pes 2 L=3000
28 film band 3kg plastic roll 1
29 peg pes 40
30 Top film FengGu Film 5s pes 1 D=9.5x40.5
31 End film FengGu Film 5s pes 2 D=3.5x5.5
32 bottom film FengGu Film 5s pes 2 D=0.5x40.5
film (windshield
33 film, FengGu Film 5s pes 8 D=1.2x2.2
door film)
34 insect net pes 2 D=1.5%40
35 screw and nut M5%30 set 40 22 roll film rod, 22 longitudinal beam,
small hole hoops|
36 screw and nut M6x40 set 11 32 Top longitudinal rodp
37 screw and nut M8x30 set 33 Big hole hoop, door seat|
Self-tapping nail Arch rod connector, arc, door
M6x20 1
38 (6 Angle head) 6 pes , lock channel
39 Self-tapping nail M6x30 pes 100

(6 Angle head)






